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SN oteso
S ot At 3|
Rl FRI=SEAY (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
FoI=JAY 100,720 100,720 0
A2 FEI=RAY 100,720 100,720 0
401 AlZHIZ SO 100,720 100,720 0
01 Al&H| 100,000 100,000 0
0 AR FQU=TAE 50,000
0 S&2I == ZHISA 20,000
0 =Xl e+Z HHISA 20,000
0 dAMcl s2 ZFSA 10,000
03 Al 2CHYI 720 720 0
0 AIE=0HYI 720
S% HPAY At 26,000 18,500 7,500
SSEAl ZHISA 2,000 2,000
401 Al HIZ S 0HbI 2,000 2,000
01 AlZ2H| 2,000 2,000
0 SSE2XEHISA 2,000
MAZE 20| Il= ots =4 11,000 7,500 3,500
101 e124d| 8,000 6,000 2,000
M ORNZZ2NSE S 8,000 6,000 2,000
0 AHAIZE 20| Ol= ol &4 2| 8,000
206 M=l 3,000 1,500 1,500
01 MHZH| 3,000 1,500 1,500
0 AHHIZ 20| Il ot &8 M= 3,000
ST 72 8,000 6,000 2,000
201 er23| 8,000 6,000 2,000
01 AtR2t2|HI 8,000 6,000 2,000
0 =34 7X2el 2237 8,000
C2RA 2elArg 5,000 3,000 2,000
401 AIEHIZ SR OHYI 5,000 3,000 2,000
01 Al&HI 5,000 3,000 2,000
0 E2RXZeIAMY 5,000
HY2IIH|(L2D) 38,780 33,780 5,000
Jl=3Hl(eteH) 38,780 33,780 5,000
JlEdd(¢ad) 38,780 33,780 5,000
201 ger=3| 28,580 23,580 5,000
01 AtR2tc|HI 28,580 23,580 5,000
0 Et=2HI(3S) 10,500
OER=Z 1,080
0 SEHI(BS) 8,000 15 100! 12,000
0 H8EA =5 7 5,000
203 =4l 10,200 10,200
01 J[2=2EHIR S| 6,600 6,600
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